REVISIONS

REV.

DESCRIPTION

DATE

APPROVED

New Cover Assembly 9550-206

8/2/2019

Toham

PartNo Description QTY.
1702-503 Cam 1.25 2
1702-509 Bracket Lock CAM 1
1897-050 Rubber O Tensioner for Logo 4
2599-034 Label Warning Gate Operator 1
2599-186 Do Nof Lift Cover with Operator 2
2599-199 Label Universal Blank 1
2599-304 Label Warning Danger 480 Volfs 1
2600-193 Crank Handle 9200 1
2600-324 Crank Handle 9550 1
2600-525 Cover Crank Tube 9200 Assy 1
2600-565 Guide Tube Model 9550 1
2600-729 Gasket Guide Tube 9200 1
2600-732 Nameplate Plastic DKS big 2
2616-002 Screw Phillips Head 6-32x1/2 6
2620-030 Washer 1/21D x 1 3/8 OD x 0.98 Th USS 4
2620-050 Lockwasher 1/2 2
2620-400 Nut Hex 6-32 6
2620-409 Nut Hex Flange Lock 1/4-20 4
2620-420 Nut Hex 1/2-13 2
2802-040 Washer Push on Clamp 4
2905-065 Screw Phillips Head 1/4-20x1/2 4
4001-035 Lock N16058BDxSFx2K Key 16120 3
9240-928 Door Model 9210 10Ga Painted 2
9550-201 Cover Operator Metal 9550 Rel 1
9550-226 1/2-13 x 1.25L Eye Bolt Zinc Plated 2
9550-236 Bracket Cylinder Lock 1

DRAWN |Tpham

DATE 07/24/19

oIS [N

9550-206 [rev;

A

NAME Cover Assembly Metal Release

RES: [9550

PROPRIETARY&CONFIDENTIAL: The information contained in this drawing is the sole property of DoorKing, Inc.
Any reproduction in part or as a whole without written permission of DoorKing, Inc. is prohibited.

DO NOT SCALE TO DRAWING | SHEETSIZE |A[SCALE:1:20 [SHEET 1 OF 2




2600-525 Cover
I . /2905—065 Screw 4X
% 1 2616-002 Screw 6X

T 2600-565 Guide Tube
9550-226 Bolf 2X

2600-729 Gasket

9550-201 Metal Cover
2620-030 Washer

2599-034 Label

2599-304 Label 480v

2599-199 Label

1702-503 Cam
2X

2599-186 Label
2X

4001-035 Lock

3X 2620-409 Nut 2620-400 Nut

4X 6X

2620-050 Lockwasher 2X
(2620-030 Washer)

2620-420 Nut 2X

2600-324 Handle

2600-193 Handle

2802-040 Washer
4X

1897-050 Tensioner

DRAWN |Tpham DWG.
4X DATE 07/24/19 % NO. 9550‘206 REV'A

9240-928 Door NAME |Cover Assembly Metal Release WHERE 9550

- PROPRIETARY&CONFIDENTIAL: The information contained in this drawing is the sole property of DoorKing, Inc.
2600-732 NOI’neplOTe Any reproduction in part or as a whole without written permission of DoorKing, Inc. is prohibited.

DO NOT SCALE TO DRAWING | SHEETSIZE |A[SCALE: 120 [SHEET 2 OF 2




	Sheet1
	Drawing View1

	Sheet2
	Drawing View4
	Detail View D (3 : 10)


